www.kaiser-kuehne-play.com Tel. +494254 - 93150

© Kaiser & Kiihne Freizeitgerate D-27324 Eystrup

K & K Installation 2019

—_

o

~

_|play level

play level mark
(=pin) complies with
mounting depth of steel post

Assign location for equipment considering the space
requirement.

Excavate soil for foundation, according to drawing.
Please note: To achieve maximum stability and a safe
installation, a moderate level of soil solubility is
required.

Attention: For installation of the pre-assembled
components and/or single parts, the screws
slightly have to be lubricated with installation
paste!

Grout foundation with compressed concrefe C20/25,
insert flange frame into concrete according to drawing
and align it with spirit level.

After concrete foundation has set, mount steel post
and baskef board and cover the foundation with soil
(mounting depth corresponding to play level mark=pin).
According to maintenance instructions, check all screw
connections after 4-5 weeks and retighten, if
necessary.

Please ftake care that all specific documents which are
or may be useful for safety management acc. to EN
1176-7 (e.q. invoice, delivery note, order
acknowledgement, installation instructions, maintenance
instructions) are forwarded to the persons responsible.

Installation

Item-No. Designation

0-58250-000 K&K Basketball unit

Scale

1/50

Date Page

06/19 DW 1/3



AutoCAD SHX Text
play level

AutoCAD SHX Text
concrete

AutoCAD SHX Text
play level mark  (=pin) complies with mounting depth of steel post

AutoCAD SHX Text
play level

AutoCAD SHX Text
1.	Assign location for equipment considering the space Assign location for equipment considering the space requirement. 2.	Excavate soil for foundation, according to drawing. Excavate soil for foundation, according to drawing. Please note: To achieve maximum stability and a safe installation, a moderate level of soil solubility is required. 4.	Grout foundation with compressed concrete C20/25, Grout foundation with compressed concrete C20/25, insert flange frame into concrete according to drawing and align it with spirit level. 5.	After concrete foundation has set, mount steel post After concrete foundation has set, mount steel post and basket board  and cover the foundation with soil (mounting depth corresponding to play level mark=pin). 6.	According to maintenance instructions, check all screw According to maintenance instructions, check all screw connections after 4-5 weeks and retighten, if necessary.  7.	Please take care that all specific documents which are Please take care that all specific documents which are or may be useful for safety management acc. to EN 1176-7 (e.g. invoice, delivery note, order acknowledgement, installation instructions, maintenance instructions) are forwarded to the persons responsible. 


www.kaiser-kuehne-play.com Tel. +494254 - 93150

© Kaiser & Kilhne Freizeitgerate D-27324 Eystrup

K & K Installation 2019

@ 10x screw connection basket board - crossheam
consisting of:

mushroom head screw DIN 603-M12x60-A2;
washer DIN 125-913-A2;
safety nut DIN 985-M12-A2.

4x screw connection steel post - crossbheam
consisting of:

hexagon screw DIN 933-M20x45 zinc-plated;
washer DIN 125-921-zinc-plated;
safety nut DIN 985-M20 zinc-plated.

6x screw connection
rear side support plates - basket
consisting of:

mushroom head screw DIN 603-M8x45-A2;
washer DIN 125-98,4-A2;
hexagon cap nut DIN 986-M8-A2.

Installation

Iltem-No. Designation Scale Date Page

0-58250-000 K&K Basketball unit 1/50 06/19 DW 2/3



AutoCAD SHX Text
hexagon screw DIN 933-M20x45 zinc-plated; washer DIN 125- 21-zinc-plated;safety nut DIN 985-M20 zinc-plated.

AutoCAD SHX Text
mushroom head screw DIN 603-M12x60-A2; washer DIN 125- 13-A2;safety nut DIN 985-M12-A2.

AutoCAD SHX Text
mushroom head screw DIN 603-M8x45-A2; washer DIN 125- 8,4-A2;hexagon cap nut DIN 986-M8-A2.

AutoCAD SHX Text
1. Assign location for equipment considering the space Assign location for equipment considering the space requirement. 2. Excavate soil for foundation, according to drawing. Excavate soil for foundation, according to drawing. Please note: To achieve maximum stability and a safe installation, a moderate level of soil solubility is required. 4. Grout foundation with compressed concrete C20/25, Grout foundation with compressed concrete C20/25, insert flange frame into concrete according to drawing and align it with spirit level. 5. After concrete foundation has set, mount steel post After concrete foundation has set, mount steel post and basket board  and cover the foundation with soil (mounting depth corresponding to play level mark=pin). 6. According to maintenance instructions, check all screw According to maintenance instructions, check all screw connections after 4-5 weeks and retighten, if necessary.  7. Please take care that all specific documents which are Please take care that all specific documents which are or may be useful for safety management acc. to EN 1176-7 (e.g. invoice, delivery note, order acknowledgement, installation instructions, maintenance instructions) are forwarded to the persons responsible. 


www.kaiser-kuehne-play.com Tel. +494254 - 93150

© Kaiser & Kiihne Freizeitgerate D-27324 Eystrup

K & K Installation 2019

LN
c\~
™
wn| S
=2l g
o~N m
_|play level
| approx. 2,30 |
I bl
(=)
- <
\
1,00
2 x hexagon nut DIN 934-M24
(to be tightened in opposite direction)
scale 1:20 2 x washer 825 zinc-plated DIN 125
play level
mark
play level
flange frame ‘ B E—
(=]
d:
(=}
et (=]
concrete — | =
(=}
ltem-No. Designation Scale Date Page

Installation 0-58250-000 K&K Basketball unit 1/50  06/19DW 3/3



AutoCAD SHX Text
play level

AutoCAD SHX Text
concrete

AutoCAD SHX Text
play level

AutoCAD SHX Text
2 x hexagon nut DIN 934-M24

AutoCAD SHX Text
flange frame

AutoCAD SHX Text
play level mark

AutoCAD SHX Text
(to be tightened in opposite direction)

AutoCAD SHX Text
scale 1:20

AutoCAD SHX Text
approx.

AutoCAD SHX Text
approx.

AutoCAD SHX Text
2 x washer Ø25 zinc-plated DIN 125


	Pläne und Ansichten
	0-58250-000m_me_mf-Seite 1
	0-58250-000m_me_mf-Seite 2
	0-58250-000m_me_mf-Seite 3

	e.pdf
	Pläne und Ansichten
	0-58250-000m_me_mf-Seite 2



